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2.10 IMigure 2 10a shows the step responses of four different systems. Combine each

step response with a transfer function from the alternatives below.
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Figure 2.10a. All comparable axes have equal scaling.
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Figure 2.5a. All comparable diagrams have equal scaling. In the pole-zero maps, lmagk
nary and real parts have equal scaling, X marks poles and o marks zeros.




Acid process flow m : (( NaOH solution

; Flow with desired pll

Figure 2.11a.

2.11 In the continuously stirred tank, see Iligure 2.11a, an acid process flow is
neutralized by adding a concentrated NaOH solution. The acid process flow
has a tendency to vary its pH with time, which gives undesired variation of
the pH in the outflow. In an effort to reduce these variations one hag decided
to use control.

a) Classify the different signals as input, output, and disturbance signal.

b) Draw a block diagram of the system with a control strategy.
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